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1.What is the main cause of temperature rise in the
interior of the Earth?

geeft & TR W1 A ATIHTH 9 1 HE HROI 182

(a) Pressure /| <919

(b) Breakdown of radioactive substances / f&aier aaref &1

gl
(c) Both the pressure and breakdown of radioactive

substances / f&Arerd ugrerl o1 9@ iR geA AT
(d) No option is correct. /| &5 Qe ag g 2 | .

C

2.Generally atomic radius is measured(in which unit?

M TR R AT R for gaTs # AT ST 82 ‘-OV

(a) Fermi / %<l N
(b) Millimeter / ficifiex N\
(b) Angstrom / UReRH \

(d) Micrometer / AIggRHIER

c

3.Breaking down of'fats from large globules to smaller
globules by Bile juice is similar to which of the
following?

<1 T ERT ST | BIC TGS A a991 BT ge1 1 A A forads qar1 82
(a) Emulsification of soaps / I &1 UAHAHROI

(b) Esterification of alcohol / IR &1 FTHTT
(c)-Fermentation of glucose / @I ot frvas

(d) Eutrophication of water / Ul &1 JcRIfthdb =

A
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4.Robert Hooke discovered cells by observing them in a

RGETHATH____ H S8 SPR BIAbIA B Gl B |
(a) onion peel /| =TS &1 fdd

(b) cork slice / Fid H1gHSI

(c) pond water / ITdTd H1 =T

(d) No option is correct. | FIE e T &2 |

B .

5.When warm air rises up and cold air from the
surrounding areas rushes in to fill its place then this
sets up in air
mnﬁwwa&ﬁ%aﬂ?m?}saﬁﬁé@ﬁ@!ﬁww gg it g @t
PEEEIE N R

(a) conduction / T K y

(b) convection / Jd&q \

(c) radiation / fafeRor

(d) agitation / 3igle=

6.Which of the.following fuel has maximum calorific
value?

frfeRea ¥ Ffer $ua &1 siftrrew Sefa A 82

(a) Petrol / 9cxI

(b) Coal / &ge

(c)Wood / TFst

(c) Cow dung / T &1 MR

A
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7.-Which plant tissue is also known as growing tissue?
g dte) & o B! T Hap b v H Wl AT S22

(a) Only permanent tissue / &ad ¥l oa®

(b) Only Meristematic tissue / ¥aa aRTCHeH Has

(c) Both Permanent and meristematic tissue / ¥ iR
ARTeAeD Sdd Q=i

(d) Neither Permanent nor meristematic tissue / 7%t

IR A & aR~cHAfes Sas

8.The ratio of change in velocity of a body'to the total
time taken by it is its
mm%m#mmmmmmémwm
g

(a) acceleration/ X K Y

(b) displacement/ faFmT= |

(c) force / 9«

(d) momentum / Tfd

A

9.The greater the difference in ,» the faster
the air moves:

4 3reR o srftres gien 2, ST diasi e e |

(a) humidity / 3R

(b) pressure / <dq

(c)-altitude / Sa13

(d) latitude / s7&¥
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10.In Microsoft Word, under paragraph formatting
is used to align paragraph on right, left and

center.

Microsoft Word #, 3268 THYvl & dad BT SUINT 18,
13 3R HeR R e TR HRA & forg fra wiran & |

(a) Font style / ®i< 3<il

(b) Indentation/ ¢4

(c) Alignment / IR

(d) Spacing / Rfe .

C

11.In the following question, select the odd word from

the given alternatives. - Y
e R, e el & 9 faws PN |
(a) Lungs /| ¥ K y

(b) Nose / AT
(c) Heart / fR&
(d) Kidney / fet

12. In layout headings can be displayed

hiding the text under them in Microsoft Word.

A1eTSe H Microsoft as ¥ $7a 2 ¢avee &l fosura gu Refia

forar S 2 |
(a).Web/ a9

(b) Outline / TGl
(c) Reading / g+
(d) Print /| R
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13.Which type of epithelial tissue forms the lining of
kidney tubules and ducts of salivary glands, where it
provides mechanical support?
T4 &, <781 I8 TifoR® T [REF HIATE?
(a) Simple squamous epithelial/ IR TRHH SUPHAT
(b) Stratified squamous epithelial /| T{pd TEAAABIDAT
(c) Ciliated columnar epithelial / ST <Y SUh e
(d) Cuboidal epithelial / ¥FTPR SUBAT

. N/
qp

wdoe

14.The cell walls of many organisms of Fungi kingdom

are made of a tough complex sugar called .
&t T & S oftal Bt BRI ARGUS B wifca whv A T+ Bt P
HEI AT |

(a) Pectin / 9fde=
(b) Suberin / JIR+

(c) Cellulose:/, IS
(d) Chitind Rife=

15.An object having a capability to do work is said to
possess .

BT B BT &HAT TG el I B % UTH HET ST 8 |

(a) force/ 9«
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(b) moment/ Ta
(c) momentum / Tfa
(d) energy / st

16.The ozone layer protects us from harmful

A}

rays of the sun.
3T URe 4 Bt BB RS fep=uit | gARIRETaR 8 |
(a) infrared / 3R

(b) cosmic |/ HiRkHA®

(c) gamma / T . N/

(d) ultraviolet / WS q@
y‘

)

17.Atomic number is always equalto __ .

RV AT g FIMER BN |

(a) Number of protons / RIEH &1 J&T

(b) Number of neéutrons/ I ot &l

(c) Number-of-electrons / SaaciHi &t I

(d) Sum of-protons and neutrons / RICH R =Y & AN

A
18. Which of the following is not included in the

excretory system of human being?
ferfafad 3§ J #i9 A11a & ST Romedt # i TE 82
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(a) A pair of kidney/ < @1 U& SISt
(b) A pair of ureters / TRATE Pt TP SISt
(c) Abdomen/ S®

(d) Urinary bladder/ TR TRRA

C

19.By which process substance like carbon dioxide or
oxygen can move across the cell membrane?

P SRS 1 ifeRfo SN yared foha (RGN gR1 BHRMwT f3reeh & qR <
IHd 82

(a) Precipitation/ aui ANy

(b) Transpiration / I s m‘c

(c) Osmosis/ AR ‘(C y

(d) Sedimentation/ 3@9ET

C

20.The process of electric discharge between clouds
and the earth.or between different clouds causes

et 3R gedt & e Rftr= areei & e g frdga 2 wiewn
P BRI TN |

(a)-thunderstorm/ fasclt g arel HH

(b) cyclone / A&=Ard

(c) lightning / Rt

(d) winds / ga@
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C

21.The transport of soluble products of photosynthesis
is called .

UREPTY HTITY] & Fer-Teiiel Searel & URae &l FHEI AR |

(a) transpiration/ arIoH

(b) translocation / 3

(c) transportation / 9RagT ’

(d) concentration/ T&RRdI

B
N

22 .Which feature of the cell QGWS or permits the entry
and exit of some materials4dn and out of the cell?

I B B A AT A & 7SR AR ITER $B AARRAT & [Ra¥ iR A it
A I Srgafer et 82
(a) Cytoplasm / TgciteoH

(b) Protoplasm /[ RIEr<msH
(c) Cell wall LEdF AR

(d) Plasma.membrane / wr<HI f3ieei!
D

23.What charge is present on a neutron?

ISR IR 41 ATo1 AiSE 87
(a) positive /| IHRIHSD

(b) negative / xITH®H
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(c) no charge / &3 Y& &
(d) No option is correct/ &3 e & &

C

24.The skin, the lining of the mouth, the lining of the
blood vessels, lung alveoli and kidney tubules are“all

A}

made of which type of tissue?
T, HE B IR, 90 qTiaplil o1 R, HHS B aRIBIAD] MR IS B
AferepTd a3t fop RPR &% Heieh A T B 82

(a) Epithelial tissue / SU®HAl Hddh

(b) Connective tissue /| TS TaF - W

(c) Muscular tissue / I S® m‘c

(d) Nervous tissue / aﬁmﬁﬂ;(c y

A

P

25.The 'a substance is defined as the mass
A

per unit volume.*

fordt aaret @t RIAT R §BTS G & w4 H gRATRa foran
S8 |

(a) density/ T

(b) viscosity / RafmEe

(c) porosity/ IRRIE

(d) luminosity/ T9dIR

A
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26. is produced from incomplete burning of
fuels such as petrol and diesel.

T IUTE IeRIe iR S SRy Se B AR T BT & |
(a) Carbon dioxide/ FTe SrFiaATSS

(b) Carbon monoxide / FH AFRIRITES

(c) Nitric oxide /3@ siiaTsS

(d) Nitrogen dioxide/ TgcRIS STS3iiavTSS

27. In Microsoft Word, is’a’position we set

for placing and aligning text on a page-

Microsoft Word 3, Reafii SR g fFfige
976 % ¥ iR SRR et 5 g PreiRe axors |

(a) Standard tool bar/ ¥€E graR

(b) View Buttons / 92939

(c) Formatting tool bar\ BHf&Tga TR

(d) Tab stop / ¢I3&

28.In the following question, select the odd word from
the given alternatives.

PraAfiRea e d, g Ree§ 3 R re s o a |

(a) Odometer / siEnifiex

(b) Thermometer / JHHeR

(c) Degree/ &

(d) Barometer/ &RiHiex
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C

29.During the day which process is the major driving
force in the movement of water in the xylem?

Rt % ST Y ot R StTgem # Ot & e o (e R Al 87
(a) Transpiration pull / ™A Eig

(b) Evaporation / arsfiaRor )

(c) Suction /| I®H

(d) Translocation / a5

A . o/

‘7\‘9
30.Which of the following pangv'plant cell, is
selectively permeable? l
TSy HIRIPT & Fr=aferiad # | oI |1 ATy gfoig wu A fiar g2
(a) Cell wall / I3 Ft IR
(b) Cell membrane /-3 f3reett
(c) Cytoplasm / HEcisq
(d) Nucleus / #if%®

31.By volume, 78% of air is .
IR & R, 78% I g

(a) nitrogen / AgcRISH

(b) oxygen / siffte

(c) hydrogen / gESISH
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(d) helium / &fem
A

32.Which substance is produced when alcohol is added
with petrol and used as a fuel?
mﬁaﬂa%mw&aﬁmmm%aﬂﬁm%wﬁwmwéaﬁﬁﬂ
1 919 S B 82

(a) Only oxygen/ &ad 3ifa=fter

(b) Only carbon-dioxide/ %dc Hre-SIgAH IS

(c) Only water/ &dae gt

(d) Carbon-dioxide and water both /. Bg--SS3ifdgS AR qr=t

G|
N
&

33.Epidermal cells of which part of plant often secrete
a waxy water resistant layer on their outer surface?
UfUeAe HIABTS G18 & fRrediTeT H TR q18t Halg UR A1 a1t qRICRIEf o
R HAT 82

(a) Aerial parts only / Fde ga1s W

(b) Roots‘only / Fad e

(c) Bath\aerial parts and roots / gq1s W 3R ¥1€ a1
(d).Neither aerial parts nor roots / 73 &8 yF AR A & o1

A

34.The relative density of a substance is the
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fep=ft uarel 1 3Mufere T g
(a) ratio of its density to the density of water / 9t & s=
& foTq 39k wI71cq T 3rqUTa
(b) ratio of the density of water to its volume/ 9t & ¥@ &
AT H BT T7ed
(c) product of the density of water to its density/ Urit®
TTcd 1 SIS S AT A
(d) ratio of the volume of water to its volume/, 9Tl & 3ma<H
BT IHPB! ATCRT &b U A
A
35. is made up of smq&'énd fog.

N AR PR AT
(a) Cloud / arcd fc .

(b) Smog / =
(c) Frost | %I¥c
(d) Haze / g

36.In Microsoft Word, under character formatting
makes character stand out by making them
boid, italic or both.

Microsoft Word #, gui Tawqvl & d&d e dice, gcfod a1
AT TR ARTR P eI HRaT |

(a) Size / PR

(b) Font color / BI<c ¥

(c) Effects | Y@
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(d) Font style / Bi~ deft
D

37. Some amount of plasma, proteins and blood cells
escape through the pores present in the walls of
capillaries into the intercellular spaces in the tissue

A}

and form .

F'B ACRT H AT, RICH AR ok BIRABTY HRIpTsl B faRI| ARIE SHedl J
ARPINVNPATAFAANGGAR_ FHUATI A G-

(a) heparin / 2aR¥

(b) lymph /| a=fie& N/

(c) platelet | wcae m‘c

(d) protein | R&H ‘(C y

B

38.Which of the following is not a feature found in
almost every cell?

ferferRaa 3 I wiveaft fadraer s &= Ja & = ord wircht 82

(a) Cell wall / I H AR

(b) Plasma membrane / <1 f3ieett

(c) Nucleus/ Tf{®

(d)-Cytoplasm / STgciw<H

A
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39.What is the position of metallic ion and non-metallic
ion in a chemical formula?

AP R A T1faes 1 SR stenfass o= ot Ry = @?

(a) Metal ion at second position / TR T TR ¢ A

(b) Non-metal ion at first position / tgeil Reify # IR-e1q 3y
(c) Metal ion at first and non-metal ion at second
position / U8 T TR ¢ M 3R TR T R IR-811q 31

(d) No option is correct/ &5 A At &l & ’

C

40.Lime water becomes white due towhich gas?
T 1 Ot R 1 3 T ha B ST 82 q@

(a) CO2

(b) 02

(c) NO2

(d) N2
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